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True False Questions
Indicate True or False for the following Statements.
1. Calcium has an oxidation number of +1 only. ( True/False )
2. In the following compound, KMnO4, the oxidation number for manganese is 7+. ( True/False )
3. The oxidation number of a free element is zero. ( True/False )
Multiple Choice Questions
For each question, four alternative choices are given, of which only one is correct. You have to select the correct alternative and mark it in the appropriate option.
4. Choose the oxidation number of N in NO.
a. 
b. −1
c. +1
d. −2
e. +2
5. 
6. Which of the following is the most stable ion?
f. 
g. Sc+4
h. Mn+3
i. Fe+2
j. Mn+2
7. 
8. Iron can form _____ ions.
k. 
l. Fe3−, Fe4+
m. Fe3−, Fe4−
n. Fe2+, Fe3+
o. Fe2−, Fe3−
9. 
10. Choose the oxidation number for the element zinc.
p. 
q. One
r. Zero
s. Two
t. Five
11. 
12. What are the oxidation states of nitrogen in the compounds NO, NO2, N2O3, N2O4 and N2O5 respectively? 

a.   +1, +2, +3, +4, +5
b. +2, +4, +3, +8, +5
c. +2, +4, +3, +4, +5
d. +2, +2, +6, +4, +5
e. +1, +4, +3, +8, +
13. Choose the oxidation number of H in HCl.
u. 
v. +1
w. −2
x. +2
y. −1
14. 
15. What are the oxidation states for the common anions of sulfur and the common cations of sulfur respectively? 

a.   -6, -2, +2, +4
b. -6, -4, +2, +4
c. -2, +2, +6
d. -1, -2, +4, +6
e. -2, +4, +6




Answer Keys
1. 
2. FALSE
3. TRUE
4. TRUE
5. +2
6. Mn+2
7. Fe2+, Fe3+
8. Zero
9. +2, +4, +3, +4, +5
10. +1
11. -2, +4, +6
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